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項　　目
電　気
（kWh）

水　道
（㎥）

ＬＰガス
（㎥）

灯　油
（㍑）

0.36 6.5 2.5 2.3 2.6二酸化炭素排出係数 ①

計

（kWh） （㎥） （㎥） （㍑） （㍑） （㍑）

ガソリン
（㍑）

軽　油
（㍑）

0.688

（円）（円） （円） （円） （円） （円）

（㎏） （㎏） （㎏） （㎏） （㎏） （㎏）

１
ケ
月
目

（
　
　
月

）

使用量
②

金　額

二酸化炭素
排出量
①×②
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ケ
月
目

（
　
　
月

）

使用量
②

（kWh） （㎥） （㎥）

金　額
（円） （円） （円）

（㍑） （㍑） （㍑）

（円） （円） （円） （円）

二酸化炭素
排出量
①×②

（㎏） （㎏） （㎏） （㎏） （㎏） （㎏） （㎏）
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目

（
　
　
月

）

使用量
②

（kWh） （㎥） （㎥）

金　額
（円） （円） （円）

（㍑） （㍑） （㍑）

（円） （円） （円） （円）

二酸化炭素
排出量
①×②

（㎏） （㎏） （㎏） （㎏） （㎏） （㎏） （㎏）
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４
ケ
月
目

（
　
　
月

）

使用量
②

（kWh） （㎥） （㎥）

金　額
（円） （円）

二酸化炭素
排出量
①×②

（㍑） （㍑） （㍑）

（㎏）

（円） （円） （円） （円）

（㎏） （㎏） （㎏） （㎏） （㎏）
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ケ
月
目

（
　
　
月

）

使用量
②

（kWh） （㎥） （㎥）

金　額
（円） （円） （円）

（㍑） （㍑） （㍑）

（円） （円） （円） （円）

二酸化炭素
排出量
①×②

（㎏） （㎏） （㎏） （㎏） （㎏）

６
ケ
月
目

（
　
　
月

）

使用量
②

（kWh） （㎥） （㎥）

金　額
（円） （円） （円）

（㍑） （㍑） （㍑）

（円） （円）

環 境 家 計 簿（６ヶ月用）

排出量の抑制
１カ月目の
排出量計

A ㎏

二酸化炭素
排出量
①×②

（㎏） （㎏） （㎏） （㎏）

－ ＝

（㎏）（㎏）

家計の節約 ：
１カ月目の
金額計

ａ 円

：

－
６カ月目の
金額計

ｂ

６カ月目の
排出量計

B

円 ＝ 増・減 円

（㎏）

㎏

（円）

（円）

（円）

（㎏）

増・減 ㎏

（㎏） （㎏）

（㎏）


